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nstructions: Section I is compulsory. (1 Question x 20 Marks = Total 20 Marks)
Sectipn II - Attempt any two. (2 Questions x 10 Marks = Total 20 marks)
Section III — Attempt any four. (4 Questions x SMarks = Total 20 marks)
: . Section I
Q .1 Suppose the price of a non dividend paying stock is Rs. 32, its volatility is 30%, and the risk free rate
for all maturities is 5% per annum. Calculate the cost of setting up the following positions: ‘
(a) A bull spread using European call option with strike price of Rs. 25 and Rs. 30 and maturity of 6
month.
(b) A bear spread using European put option with strike prices of Rs. 25 and Rs. 30 and maturity of 6
h month.
s of Rs. 25, Rs. 30 and Rs. 35 and

(c) A butterfly spread using European put option with strike price

maturity of 6 month.
11 strike prices are

A. Calculate the cost of setting up the all above positions where option price for a

as follows-
[ Strike Price | Put option price Call option price |
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4 B. In each case provide a table and graph showing the relationship between profit and final stoq
; 4 - price. Ignore the impact of discounting. : : ;
s/ . : -
Section II

ntered into when the stock price is R,

Q. 2 A orie year future contract on a non dividend paying stock ise
40 and the risk free interest rate is 10% per annum with continuous compounding.

(a)What are the forward price and initial value.of the forward contract?
What are forward price and

(b) Six month later, price of the stock is Rs. 45 and interest rate is still 10%.

and 5% per annum with

value of the contract?
ingapore and India are respectively are 2% _
e future price for contract

K\
\

Q. 3 The 2 month interest rate in S
continuous - compounding. The spot price of Singapore dollar is 45. Th

deliverable in two months is Rs. 48. What arbitrage opportunity does it create?

Q.4 Consider an option on non dividend paying stock when the stock price is Rs. 30, strike price is Rs.29
and time to maturity is 4 months.

risk free interest rate is 5%perannum and volatility is 25% per annum

(a) What is the price of European call option?

(b)What is the price of European put option?
Section 111

L

Q. 5 Write short notes:

(a)Historical volatility

(b) Implied volatility
Q.6 How is gamma different from delta? What is the principal behind delta gamma hedge?

Q.7 What is the impact of change of following factors on put option price and call option price?

(a) Stock price
(b) Exercise price or strike price
Q. 8 How are options different than futures?

Q. 9 What is Basis risk? What is its importance in hedging?

Q. 10 What categories of investors/ traders use derivatives?
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